BT TRIA O - HEHHEE X T 3;5219&07)% KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,753 86,955 41,464 45,491
RIRET1T 6 15 9 6
RIRET2T 28 55 27 28
RIRET3T 177 595 294 301
RIRET4T 415 1,006 499 507
B 626 1,671 829 842
REH 2,668 6,193 2,899 3,294
L&A 4,237 9,522 4,481 5,041
BE 2,573 6,012 2,920 3,092
5 WA 1,253 2,853 1,326 1,527
BERT 1,302 1,986 951 1,035
BER2T 710 1,363 662 701
BHERST 385 865 421 444
g 2,397 4214 2,034 2,180
BARE 281 693 355 338
= 2,210 5,244 2,483 2,761
hERE 629 1,454 660 794
e 2,419 5,225 2,514 2,711
25 L ET 2,278 5,128 2,445 2,683
B &AL BT 79 169 69 100
HEFILET1T 563 1,211 571 640
HEFILET2T 618 1,366 645 721
HEZFILAT3T 620 1,464 726 738
g 1,880 4210 2,011 2,199
B & it B Fr ET 687 1,640 787 853
BHEREBET1T 601 1,238 592 646
BHERERET2T 760 1,760 848 912
BHERERETST 777 1,681 763 918
HERERET4T 451 956 466 490
HEHFMHETST 815 1,694 804 890
HEHFHET6T 887 1,994 961 1,033
HEFRET7T 834 1,830 882 948
HERERETST 70 215 100 115
£t| 5195 11,368 5,416 5,952
HEF R FET 1,856 3,973 1,925 2,048
S|EFET1T 574 1,556 775 781
S|EFET2T 769 1,824 866 958
S|EFET3 T 720 1,428 664 764
g 2,063 4,808 2,305 2,503
ERE1T 569 1,350 650 700
EIRET2T 385 1,024 515 509
EREIST 478 1,318 642 676
EIRETAT 691 1,508 679 829
EIZEIST 498 1,014 513 501
g 2,621 6,214 2,999 3215
MEH 2,766 6,309 2,977 3,332
J\THET1T 35 38 12 26
J\THET2T 27 70 34 36
J\THEI3T 52 116 52 64
B 114 224 98 126
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